[750E RETRF] SH7E48268
ARFEHABRT=Xa—+

—f XF 9 10 11 12 | B | E | B
10 ;1'§$% 0 4 0 0 3
11 ’Qﬂiég 1 0 2 1 4
12 gémﬁ:g 4 4 4 3 1

DT BF1E(E—xE) 13 15 17 s 5k = =t

W -t

13 HALEH S 2 ‘
{552

19 RE-hEEY 0 o1 0 3
TR

17 STRTAIL 2 4 1 2

D=7 BF1E(EZxE) 13 15 17 52 = =t

W 4K

13 HAVES 4 4 2 ‘
e

1 HE-EEH 0 3 0 3
AN -

17 STZVEHI/ 2 4 1 2

. I -k W 4K .
R o UEm vevEH | 2R




V7 BF28R(E—xtER) 14 16 2 | B | £ | B
14 ;%iigf;_z 4 4 2 1
16 é;gﬁﬁ 2 4 1 2
32 *ﬁ*ifbw\% 0 1 0 3
V7 BF28R(EXER) 14 16 2 | BE | £ | B
14 ;%iigf;_z 4 4 2 1
16 é;gﬁﬁ 0 4 1 2
32 *ﬁ*ifbw\% 3 3 0 3
D7 KF 18 19 21 2 | BH% | = | R
18 ﬁ*gﬂff'_ifi% 1 4 4 2 2
19 ﬂ%gj'_'{\fm 4 4 4 3 1
21 'ﬂ‘;@';ﬁﬁ R o R 0 4




